Refresher Course Math 1050 and 1060 Practice Problems Set 1

1.) Write each inequality in interval notation and graph:

a) -3<x<5 b.) %Sx_<_4
A
=== (-3,5] L=, 4]
L
7 - =
- 1
’ S = 9
c) x<-6 d) -2<x
(-o,~6] -6 (=g, 2)
- o p— ¥ -
2.) Use inequality notation to describe “w is at least 15, £
15 < w

3.). Identify the variable terms, the constant terms, the degree of the polynomial, and the
coefficient of each variable term.

3x° —4x% -5 C e#—(_x /l‘lj
Variable derms: 3)(3/ Yy 6 __{E; (crents
Constaumd terms: =6 Xé 2 5
19e7ree: 6 “{xt =29
-5 —7-5

4.) If x=-2 and y=5, find 3x* —xy + (y — x)*.
3 (-0 = CU(5) 4+ (5-60) = J()+10+4 9

= zz+qq:@

5,4 35
a) 2X¥ GlA x i” S ENE b) (-2)™ |

Y ey - 7 SR P S
o _ 2) £ T

5.) Simplify each of the following:

c.) (~8)° d) -(-8)°

S - (-5)"= - |
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5.) Continuation Simplify each of the following:
8 -4 7.5 3 6\
e) (m n ) IGn__g/ £) (m x°y’z J

m™2n’ M x3m"zzy2

m m?
= [iy){fn‘” I j_—_

) Bp2¢*) 5p7g™)"

g.

(p2g72)” :
3,79 6 Y gl g _
Up'e Uz pyY) 55
6.) Write in standard form (without exponents) =
a) 3.46x10° b) 25:753x10™
7460 000 '-
/ 1 / .000 257 5
7.) Write in scientific notation:
a.) 0.00458 b.) 5,623,000
4,55 x107 5617 x10©
8.) Simplify: (-9x° +7x* —=5x+3)+(13x> +2x* —8x - 6)
3 .
= Hx +9x*-3x -3
9.) Multiply:
a.) (x-2)(x-6) b.) -3x*(x-5)(2x+1)
K= Fx +12 =3 (ext-9x-5)

= t 6xo417x44 15 x° }
c) Gx*+4x—5)(x+4)

3 U o Gy + 12x 4] 6x 20
=0+ iex 2] .
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10.) Factor:
a) 5x*+30

5 (Kt )

c.) 8s*—4st+6sy—3yt

(453 @5 -+ )

e.) t2+t+l
4

(et L)

g) x*+7x+8

lngAqb‘j L 7L)//)O

A T0E) -+

-

- 2
07 ) (x + 2307

i) x*+7x-8

x+9)(x-)
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b.) x(7t+4)+ (7t +4)

1) (74 +4)

d) 3p2-dp+1

(3/0*()(/:“[)

f) x*-1.0x+0.25

i) =3x*-x+4

{fx“‘)(-xi- [)
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10.) Continunation Factor:

k) Sw?+13w—6 1) 6t% +11rw—10w?
(Bw-2)(w*3) (34 -26) (24 +50]
m.) 50r?-32 n.) 16a’ +56a+49

L (150 -16) (Yat7)(4a+7)

L 5r-49)(5r+y)

0.) 8k*-y? p.) 10m*-23m+12

@ k’}’)(‘fkleZl(chy") (5m=4) (2m -3 )
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